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QUESTION 1

Given: XYZ Company is planning to install a new 802.11 WLAN, but wants to upgrade its wired infrastructure first to
provide the best user experience possible. XYZ has hired you to perform the RF site survey. During the interview with
the network manager, you are told that the new Ethernet edge switches will support VoIP phones and 802.11 access
points, both using 802.3af PoE. 

After hearing this information, what immediate concerns do you note? 

A. VoIP phones and 802.11 access points should not be powered by the same edge switch due to distortion. 

B. The edge Ethernet switches will need to support 802.3at PoE in order to support both access points and VoIP
phones. 

C. If the switches are in optimal locations for VoIP phones, they are likely to be suboptimal locations for 

802.11 APs. 

D. The power budget in the edge switches must be carefully planned and monitored based on the number of supported
PoE devices. 

Correct Answer: D 

 

QUESTION 2

What statements about the SSID are true? (Choose two) 

A. The SSID is a security session identifier used in RSNs. 

B. The SSID must be included in an association request frame. 

C. The SSID is an alphanumeric value assigned to device manufacturers by the IEEE. 

D. The SSID is a pseudo-random number assigned to each client by an AP. 

E. The SSID is an alphanumeric value with a maximum length of 32 octets. 

F. When configuring a new network, creating an SSID is optional. 

Correct Answer: BE 

 

QUESTION 3

What is the purpose of the WLAN component shown in the exhibit? 
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A. Connecting an unterminated coaxial RF cable to an N-type female connector on an antenna 

B. Adapting an antenna with an SMA connector to an AP with an N-type female connector 

C. Connecting a lightning arrestor (gas discharge tube) to a grounding rod cable 

D. Providing a fixed amount of signal attenuation between a signal source and an SMA antenna connector 

Correct Answer: B 

 

QUESTION 4
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When planning an access point deployment that utilizes Power over Ethernet (PoE) switches at the network edge, what
design decision could adversely affect the operation of 802.3af APs? 

A. All ports on the Ethernet switch will be supporting Class 3 PoE powered devices. 

B. Some APs are connected to a PoE switch and are also receiving power from an AC outlet. 

C. The Ethernet switch\\'s uplink ports are not connected to an 802.3af-compliant core or distribution Ethernet switch. 

D. A gigabit Ethernet switch port supporting an 802.11a/g AP auto-negotiates to 100 Mbps. 

E. The installation team is not informed that PoE support will reduce the recommended maximum UTP cabling length
from 100m to 50m. 

Correct Answer: A 

 

QUESTION 5

The OSI model is a 7-layer model for understanding the functions of a communication system. What OSI sublayers are
specifically addressed by the IEEE 802.11-2007 standard? (Choose 2) 

A. MSDU 

B. PPDU 

C. PLCP 

D. MAC 

E. IP 

F. 802.1X 

Correct Answer: CD 
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